MODEL : CF 9172 (4'6") ASSEMBLY INSTRUCTION

Tighten with Allen Key (1).

A2 Step 1 : Attach side rail (D), Middle Panel (J) to arm (A) by pushing the bracket down to fitit. | Step 2 : Attach the back panel (C) to arm (A). Tighten with Allen Key (2).
Arm 2 pes
Al

B ’ 1 pc
Slat 13 Pcs

C 1 pc
Back Pane

= 1 pc
Side Rail

[Trundle Front Panel (PU)

i

Trundle Back Panel

G / 2 pes

Trundle Side Panel

} .‘\ L BACK VIEW
Slat 13 ws‘ BACK VIEW
1 Wooden | 4 pes
Block

Step 3 : Tighten the slats with CSK screw (3). The distance of the slats should be sufficient to Step 4 : Attach trundle side panel (G) and trundle front panel (E) to trundle back panel (F) by

obtain desirable bed stability. pushing the bracket down to fit it.
! \ 1 pc
Middle Panel

Packing Hardware

1 \ 1 pc
M5 x 70 mm

2 \ 1 pc
M4 x 65 mm

3 M CSK M4 x 32mm | 04 PCS

4 M CSK M4 x 16 mm 24 pes

5 4 pes
JCBC M6 X 50

6 @ 4 pes

Flat Washer

7 @ Roller 6 pes

3 O 16 pos
JCBB M8 X 20




‘ajo1dwion st Ajquuessy : £ doig

"(H) ¥e[s oy uo Supyrews oy) mo[[oj (H) 1e[s oy} 03 (L) 19[[01 Y X1y : ¢ daig

(D) 29 () 1e o[punyy 2y} 03 (H) 18[S 9y} XIj pue J[PUILL} 3} JO IOUI0O 3} J& (]) SYO0[q Uopoom 3} doe[{] : 9 daig




